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QUESTION 1

By what means can a design document be associated with the component it describes? (Choose three) 

A. import 

B. dependency 

C. association end subsets 

D. ownership 

E. inheritance 

F. power types 

Correct Answer: ABD 

 

QUESTION 2

An information flow may NOT occur between which elements? 

A. packages 

B. instance specifications 

C. associations D. use cases 

D. classes 

Correct Answer: C 

 

QUESTION 3

What are the correct identities of packages A and B for the Infrastructure Library package in the exhibit? 

A. A = Basic; B = Profiles 

B. A = Core; B = Profiles 
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C. A = Abstractions; B = Constructs 

D. A = Core; B = Superstructure E. A = PrimitiveTypes; B = Core 

Correct Answer: B 

 

QUESTION 4

What is used to apply a behavior to all elements in a collection? 

A. interruptible region 

B. expansion region 

C. exception region 

D. map action 

E. partition 

Correct Answer: B 

 

QUESTION 5

What is wrong in this deployment diagram exhibit? (Choose two) 

A. Icons are swapped. 

B. Interface on Order should point up. 

C. arrow should have a dashed line. 

D. arrowhead should be hollow. 
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E. arrowhead should be solid. 

Correct Answer: AC 

OMG-OCUP-300 Practice
Test

OMG-OCUP-300 Exam
Questions

OMG-OCUP-300
Braindumps

Powered by TCPDF (www.tcpdf.org)

OMG-OCUP-300 Practice Test | OMG-OCUP-300 Exam Questions | OMG-OCUP-300 Braindumps                               4 / 4

https://www.pass4itsure.com/omg-ocup-300.html
https://www.pass4itsure.com/omg-ocup-300.html
https://www.pass4itsure.com/omg-ocup-300.html
https://www.pass4itsure.com/omg-ocup-300.html
https://www.pass4itsure.com/omg-ocup-300.html
https://www.pass4itsure.com/omg-ocup-300.html
http://www.tcpdf.org
https://www.pass4itsure.com/omg-ocup-300.html
https://www.pass4itsure.com/omg-ocup-300.html
https://www.pass4itsure.com/omg-ocup-300.html

